N = 0l & At & Ml A

20148 = =0 &k LA 2AL
A EAA
Ha: B2 oRAE MM L B AHIA B4
Sol: BAAYF U HHBE EERED
= - = s
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
CEIPS 9,184,569 11,708,447 ~2,523,878
= 299,455
Il 1,067,806
= 19,104
< 529,835
= 7,268,369
22 Az ANE e L A2 MHIA g4 1,426,498 6,016,921 A 4,590,423
2 234,555
Il 43,273
= 58,643
= 1,090,027
SAAMGFI & dH 24l 637,393 673,788 A 36,395
SAHI ALY =& 2Ae| 378,291 366,742 11,549
201 LBt2 S 370,251 353,702 16,549
01 At 22l bl 63,960 42,922 21,038
O gxse 50,0002 x117< 5,850
O o290 M= 2 100,000 *28% 2,800
O (M)A MPM= DY
100,000& =60 6,000
O st&dd AdEs 7¢ 150,000& =123 1,800
O EMmnzaess 7¢ 600,000& »23] 1,200
O =43 & 10,0003 *50&F *2H 2= %23 2,000
O XAz AayoA?Ee =g
70,0002 «102 * 12 700
O 220012 AFENDRE 25
70,0008 »4H 280
O LictEH dNYE =8 20,000& »203! 400
O gddgcld H=+ ?8xabl
45,0008 25+ 128 1,080
O Eda AHE BHa2 500,000& =14 500
O E24 2 &FH |X2eldl 100,000& x95 900
O 2dXzg &Hl=cl 400,000 5L *13] 2,000
O 22XNZ&H AT P (MHEL2E)
200,000& »3CH * 12 600
O HEM M (sHEAZAMHIA, XAEAH9
z JE) 800,000& 23| 1,600
O 829 =4 T Hi(0ISHiXI)
900,000 *3H 2= 2,700
O BAXNA =433 & =4
165,000 *304 A x23] 990
O B2a F2II00 & 222
49,0003 ~4CH+ 123 2,352
O EB2XA E=JI00 & 222
26,000 « 1304 2 *123] 4,056
O 224 HHIIHHY 22l =
24,0002 «8LH x 12 2,304

_1_




N & O & & F A
20143 & =04 LBHSIH 22A A
SA2A2
o 22 OBAM HE L ASMHHIA A
S EAAEFA L #HF 2L )
BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
O BAdax SAEXN ¢
20,0003 « 10 A+ 128 2,400
O BAXAL SAEXN ¢
20,0003 *58F A 130 & 1,300
O EAXNA A & Z2H X220l
200,000 * 130 2 2,600
O EAXNA BRH KX 22l
30,000& *40CH 23| 2,400
O FHMIN(HAH)FX =4l
4,500,000 * 14! 4,500
O Bd4 & BHXL &Y g2+
500,000& = 12& 6,000
O BaAXAx 23] & 20,0003 290 x1304 & 520
O CCTV &tz 110,000 128 1,320
O BZXA sEFL 22EZF + 2,808
— ZEH 9,000& * 13 A& %120 & 1,404
— AEI NEH 9,000 * 130 A& 120 & 1,404
02 2324l 303,441 307,970 A 4,529
O Bda gz MSEIE =H2eltl 2,132
— NEIE )| ItYHE 22l
11,000 128 132
— MEIIE s 2 100,000, 000 *2% 2,000
O Z84d HIl= A= HMeldl 18,900
- BaAA 180,000 100 A %123 2,160
- BAdE A 45,000 * 18 &+ 12& 9,720
- E2AXD 45,000 * 1304 &+ 128 7,020
O Bda 7Y 3003 «800& 123 2,880
O B2l 57 300& *500& 1304 2 1,950
O E2801)] sX &yl 410,000 *123] 4,920
O MEXNZH AHY 2= 35,0002 128 420
O XMERX H=24H(150) 59,776
— SE(EE2EH AYE)
1,963& x1102| Ef *10CH x 128 25,912
- E 1,759% 2002 A = 1CH = 12& 4,222
- IS 1,759 702l Ef = 1CH 128 1,478
— 2 1,759€ 1502 E =2CH =10 5,277
— X0l xHE 1,759& 8002l & = 1CH =128 16,887
— XEgsA2cd & =2l
400,000& = 15CH 6,000
O Bd4 HIGHMAAL =
160,000& 128 1,920
O ZoHelE Leldlole &I Akl
180,000& = 12& 2,160
O Aot E 3| 100, 000& 12 100
O 2g otdzZd = 1,300,000& *13] 1,300




2N

2
HM: 22
2

o 2 o ZMHlA A
Sl BAMYET U BHBL (B9 ®R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SEEEEEFEERITES)
1,364& %10,0002| & 13,640
O 2¢d |2l 900,000& *23] 1,800
O SSEAHYAMN st
1,3643 x4002| & 1501 & =401 2 32,736
O BHiA42 X4l 6,060 *2,266M *1/2 6,866
O BAigs A2 A4 22l |l
5,580& x120m" 18 A& 12,053
O BAXA A2 AE2el |
5,580& *340m" x 130 A& 24,664
O XS XHAI(150H) 200,000 = 15CH 3,000
O XSk EIEA =52 30,000 =13CH 390
O Xsx E8= 450,000& = 15CH 6,750
O Bd4a 2oFH 9= 150,000& x12& 1,800
O BAXA Re13H 9=
140,000 * 1304 A 122 21,840
O BHA HdAZ2 08 AL +H
200,000& 128 2,400
O Bda RAYE 4= 10,0003 <50 =128 600
O BAXA RAES =M E
10,000 x 130 A +12& 1,560
O BadXlx E3tx =HE
50,0003 1304 2 23 1,300
O BdAXla &It A A &3l
50,0003 #1304 2 23] 1,300
O BHA BEHINA o &H sA22ldl(X)
5,500,000& » 14! 5,500
O EAXNAL &=k MEE
20,0003 501 A 128 1,200
O SEHMaF &l 1,080& 40004 = 12& 5,184
O BaAXa &IJI23  350,000& 1300 & +12& 54,600
O BHdXA detAIEZ 50,0002 x130f 2 +12& 7,800
03 A2 S HI 2,850 2,810 40
O R22A0Y dANESFY 2,610
- X& 2 28 2,300,000& * 14! 2,300
— FZE2H RN B2 & AESFAY
70,000& » 3% 210
- FLEH 289 50,0002 = 2J4 100
O & E2d9 & &AL AE
120,000& * 29H 240
203 PR =&l 1,000 1,000 0
03 Al =X A2 =& 1,000 1,000 0
O BAHHEF AIMHRFAH] 1,000, 000& 1,000
301 L2 A F 7,040 12,040 25,000
09 HALAHIEA S 7,040 12,040 A5,000




2N

2
HM: 22
2

o 2 oS AHIA SFA
Sol: BAAYET o B2 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O 8gx 24 ¢ a7yl
7,000 * 200™¥ * 23] 2,800
O 8gX J1E3 2l
10,000€ = 200 = 23| 4,000
O Xd9E2HAOG SABA
20,000& = 129 * 13 240
BAizsA 249 259,102 307,046 NA4T 944
101 Q124 H] 4,536 4,968 N432
04 JI2ZtHIZ2 2 NEE S 4,536 4,968 N432
O W24Y2 U FABALSE
42 0002 x6 1801 £ 4,536
201 Bt 108,926 106,798 2,128
01 AP 22| H| 23,268 24,120 A\ 852
O 2AHX 2¢ 22,000 x58F A % 18I A 1,980
O &4D| dxtg ¥ o222
2,000 x123] 17 & 6,528
O 2AAdS8A AZE 2 100, 000& 18I & 1,800
O SH&EA MEE 22 80,000 23 18I0 A 2,880
O EA222E 2 80,000& *23| *18JH A&~ 2,880
O o &4l SX22ldl 100,000 * 1= %180 A 1,800
O JdarssE AEREFE 2 A2t
200,000 18K A&~ 3,600
O BAUEA XY M= 7Y
100,000 »18H 1,800
02 Z2=2=24%4| 85,658 82,678 2,980
O BAHAZA MIR2
150,000 128 1804 &~ 32,400
O BAHA=Z A M2 80,000&*12& x180 A 17,280
O dIItEBAINE 2 57,000& *13] » 18I 2 1,026
O fodd 49| 60,000 128 x 180 & 12,960
O M2 2 10,000& = 12& 70 &~ 840
O L3S A2 70,000 18] 18I 2 1,260
O LeErA ZH| 1,364%1,0002| & * 1300 £ 17,732
O g4dgs K02 15,000 128 1204 & 2,160
301 et A= 2,520 5,220 AN2,700
09 HAIAHI BEAZ 2,520 5,220 A2,700
O NS A2HEo3 EHAX S4AH|
7,000 * 10 *x23| x 18l A 2,520
307 2izto| A 128,270 163,270 A 35,000
o1 s =t 128,270 163,270 A 35,000
O 9E DAY (18T B A) 113,270,000 113,270
O JIXM FRLHI(18IHE 2 A) 15,000,000 15,000
401 AlEHIZL £ 0HY| 8,000 11,000 A 3,000




A EAA
Ha: B2 oRAE MM L B AHIA B4
Sol: BAAYF U HHBE EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 8,000 11,000 A 3,000
O BAZXZ A HAF &SM(AR,E5)
3,000,000 x24! 6,000
O nNE2Ads A 2HEHE 2,000,000 14! 2,000
405 THebH S| 6,850 15,790 A8,940
01 AR ESFH S 6,850 15,790 A 8,940
O =28 JAHTFL (WA 70,0002 = 12K 70
O AHCH2EYH P (D F)
300, 0002 274 600
O Z&I| 7Y 110,000 18K 1,980
O EHEJ #LY(az) 100,000& = 1CH 100
O S8J 7L (7, &4) 800, 0002 »2CH 1,600
O BHAZAANREAT Y 200,000& 54 1,000
O ZOHAXIDI 2 (0g) 1,500,000& = 1CH 1,500
012 MM 386,199 4,936,170 A 4,549,971
= 234,555
< 58,643
e 93,001
SHE 2AS MEIA HE ALY 352,199 27,000 325,199
= 234,555
< 58,643
i 59,001
401 Al HIZ 201 Y] 187,481 0 187,481
= 124,749
= 31,187
e 31,545
01 A& HI 182,755 0 182,755
O BEUHBEEHAXNAME = 396m" = 330,000 130,680
= 87,120
< 21,780
s 21,780
O BUHEBAXIAMNES &
130,680,000& * 7.39% 9,658
= 6,438
< 1,610
s 1,610
O SAEBARNZAMNE > 117m" = 330,000& 38,610
= 25,740
< 6,435
[ 6,435
O stHEATSZAINE =4I
38,610,000& = 9.86% 3,807
= 2,301
< 575
e 931
02 2eltl 3,368 0 3,368




A EAA
Ha: B2 oRAE MM L B AHIA B4
el BAI R MBS EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %Eﬁ HRE2
b |
O 2UHEBAHAXAMNE > 22l
130,680,000 = 1.85% 2,418
= 1,612
& 403
= 403

38.610,00091 * 2.46% 950
= 633
= 158
2 159
03 AlE 2 THHI 1,358 0 1,358
O SUHBANANZS ALY
130,680,0008 * 0.72% 941
= 627
< 157
2 157
O BREAVBANZ S ALY
38,610,0009 * 1.08% 417
= 278
= 69
2 70
405 XH&HF St 164,718 27,000 137,718
= 109,806
< 27,456
2 27,456
01 et 22 5 St 164,718 27,000 137,718
O Y22AANLIYDH  13,500,0002 * 10H 13,500
2 9,000
< 2,250
2 2,250
O 222 AYSTMEH HH 7L
75,000,000 * 14! 75,000
= 50,000
< 12,500
2 12,500
O U 2AX 4 A2FH 7Y
3,701,008 * 14 3,701
2 2,467
< 617
2 617
O spt BAX L AZZHIRL
1,800,0008 * 14! 1,800
2 1,200
< 300
2 300
O WABAZEA 928 2
3,701,008 * 14 3,701
2 2,467
= 617
2 617




<

n0

Kio

Hl w

H3r
Wikd
RIS

Off &t 24

5,501
3,667

fi

917
917

H

1

3,701
2,467

fir
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H

t

3,701
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fir
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617

H

1

3,701
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fir

617
617

1

3,701
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fir
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617

[

3,701
2,467

fir
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617

Mt
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4,467
1
1

fir
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117

H

|
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i
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617

H

1

3,701
2,467

i

617
617

H

H

3,701
2,467

fir

617
617

H

mH

A
A,

5,501,000& = 1

ot

A
A,

3,701,000& = 1

A
A,

3,701,000& = 1

A
A\

3,701,000& « 1

A
A

3,701,000& * 1

A
A

3,701,000& * 1

B0

A
A

6,701,000& = 1

A
A

3,701,000& * 1

A
Al

3,701,000& = 1

RO
or

A
Al

3,701,000& * 1

3,701

A
Al

3,701,000& = 1




<

n0

Kio

Hl w

A 316,000

34,000
24,000

10,000

40,200
19,000
19,000
19,000

H3r
Wikd
RIS

350,000

9,500
6,000
6,000
6,000

Off &t 24

2,467

(i

617
617

H

1

3,701
2,467

fir

617
617

H

)

6,701
4,467
1
1

fir

117
117

H

H

3,701
2,467

fir

617
617

H

3,701
2,467

fir

617
617

H

1

3,701
2,467

fir

617
617

34,000

34,000
24,000

15,000
6,000
3,000

10,000

10,000

49,700
25,000
25,000
25,000

20,000

o)

A
A,

3,701,000& = 1

A
A,

6,701,000& = 1

A
A\

3,701,000& « 1

A
A

3,701,000& * 1

A
A

3,701,000& * 1

i
B
<

A

80
0B
J
oll

=

A
A
A\
Al
o

M
=

15,000,000& = 1

o/ &Hl 0l
6,000,000& = 1
3,000,000& = 1

01 AtR 2t 2l |

Al
A\

K
<

i)
H
K
<

10,000,000& = 1

401 AIEBIZ S CHYI
01 A€ HI

H

-

KO
H

I+
<

]
H
G.
i’

i

A
A

1

=
[l

2| %

=

20,000,000

M0

21,200

3,500

5,000
24,700

A
A

5,000,000& = 1
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A EAA
Ha: B2 oRAE MM L B AHIA B4
eIt ooE % B FH RO (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— =l X=J +& 2,200,000 » 104 2,200
- AIE XN=2I 7L 7,700,000& * 1CH 7,700
— OO X 2 2,800,000& * 2CH 5,600
— d2x=20 72 4,500,000 1CH 4,500
- 2gEFl 7Y 500, 000 »8CH 4,000
O =28H ¢ 70,000& = 274 140
O AME=2EH ¢ 300,000& = 24 600
72 B 138,946 172,223 N 33,277
J| 42,573
e 96,373
Lo, Hofe S HAYAS 2AX X (KHA) 31,300 31,300 0
402 RI2EX=20l A 31,300 31,300 0
02 RI2HCH & AFH HI 31,300 31,300 0
O MASHAAHAS AKX (M)
1,500,000& x5H 7,500
O MASHAAHNS AKX (R22AX)
2,380,000& x104 23,800
A22HE 2EEXE 22,500 22,500 0
402 2I2H X201 M 22,500 22,500 0
02 BI2HCH & AF R HI 22,500 22,500 0
O AQHS FZ2elAt 300,000 34 «259 22,500
Lolox BEEX(20) 80,546 114,623 A 34,077
J| 40,273
e 40,273
402 RIZEX201 A 80,546 114,623 A 34,077
J| 40,273
s 40,273
02 2I2HCH & A S HI 80,546 114,623 A 34,077
O Lol MLOXI(65M~74AI)
1,028,000%22t 11X 22,616
J| 11,308
i 11,308
O Lol M2OXI(75MI014H) 257,000%22*13H 6,682
J| 3,341
s 3,341
O Lol 22X (65M~74Al)
1,836,000%22f »12H 44,064
J| 22,032
s 22,032
O Lo 22oXI(75MI014)  898,000%2% *4H 7,184
J| 3,592
i 3,592
LOolEL At=2el 4,600 3,800 800
J| 2,300
e 2,300
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Kio

Hl w
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H3r
Wikd
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A EAA
Ha: B2 oRAE MM L B AHIA B4
9l SZUSAY (29l & 2)
2 S 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| = 150
E=r=PSPAIMNE=1 1,650 3,650 A 2,000
201 LBt | 1,650 1,650 0
01 AP 22| d| 1,650 1,650 0
O SS2EH(ASHASI)AZE 2
110,000 = 15CH 1,650
2y 22 1,261,386 924,661 336,725
= 3,340
J| 187,989
= 25,513
= 1,044,544
2eEY gss 196,776 159,176 37,600
= 3,340
J| 26,946
= 5,321
= 161,169
Z2eEY WEYAMY FX 113,593 69,914 43,679
201 gBt2A | 13,840 11,941 1,899
01 AP 22| H| 9,400 11,101 A 1,701
O oYU EEE M (EBEH 2108)
6,000,000 x14! 6,000
O AAaHE| AAIE ZHd| 2l (M AD2 7
=) 300,000& * 8CH 2,400
O &) 22228 ¢ 0ls=2 24|
1,000,000& x 14! 1,000
02 2% H| 1,740 840 900
O 294y 2el olsds 2
70,0003 10~ 12& 840
O 29Y Y ctiE ¢ 400& *2,250H 900
03 A2 A H| 2,700 0 2,700
O &) ots=2 24l 2,700,0008 = 13| 2,700
206 M = dl 67,500 27,370 40,130
01 =4l 67,500 27,370 40,130
O 2HHHLE BSHR(EA)
2,500& = 2,000 5,000
O EXIIZAIS ogE D10 H
2,500& = 25,0004 62,500
307 2I2t0| ™ 32,253 30,603 1,650
01 2l 2¥d2=H| 32,253 30,603 1,650
O 2t Js3A AA2HA Al
1,300 = 2,500¢! 3,250
O RSEYHA Al 800 * 6,000¢0! 4,800
O B3 XED] HAF Al
88,000 * 10& * 43| 3,520




A EAA
M Zey 2z
Sl 2y HYEe CERED
= - 4 14
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
O gy HAIE =KX 800& * 7,000 5,600
O 2HEHZAA Il A 600 * 7,000¥ 4,200
O YR AS 35 1,000 *3= x 700Y 2,100
O =& AFAl & 3,983,000& * 13 3,983
O OloIE HAF Al 4,000 ~ 700™H 2,800
O ZAA JIXAN7 2,000,000& = 13| 2,000
MEHA o 22t 2,640 2,640 0
Dl 1,320
< 396
= 924
307 2Iz2t0| & 2,640 2,640 0
J| 1,320
o= 396
= 924
02 QI2tAAME X2 2,640 2,640 0
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